
Axis weight  12 kg

A
02

A
02

A
02

A
02

A
02

D

D

1 2 3 4 5 6 7 8 9 10 11 12

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

88
6 

20
0 

A2

- - -

G

ETEL S.A.
2112 Môtiers
SWITZERLAND

122
60

49
0

(16) (78)
216

8x
 M

6x
12 6 H7 x 10

130 0.1

56
.3

C
ar

ria
ge

 a
t

m
id

dl
e 

st
ro

ke
St

ro
ke

 : 
 ±

25
m

m
 m

in
.

15
0

0.
03

130 0.03

10
0.

1

20
0.

1

15
0

0.
1

20
0.

1

2

1

68 0.15

31
4

0.
2

7.5

41 82

23159

33
.8

52
.514

0.
3

47
.5

60
45

102.5 5.5

48
.8

42

10
2.

8

10 10
x 

5.
8

51.5

4x
 

5.
5

6 
H

7 
x 

11
 m

ax
.

(2
x 

5.
8)

Ad
di

tio
nn

al
 h

ol
es

R
em

ov
e 

pr
ot

ec
tiv

e 
ca

p
on

ly
 w

he
n 

to
 u

se
 th

em
.

10

2x
 M

5x
10

an_etel ID number: 1375218-00
Text: Change No. C158627-05

Released:  -

Original drawing    Linear axis TBS 50mm Tolerances as per ISO 8015 : 2011
Tolérances selon ISO 8015 : 2011Scale Format Axe linéaire TBS 50mmDimensions in

mm 1:2 A2 Mating Dimensions / Cotes d'encombrement
Dimensions without tolerance
Dimensions sans tolérances  0,2 

The reproduction, distribution and utilization of this document as well as the communication of its contents to others without express authorization is prohibited. 
Offenders will be held liable for the payment of damages. All rights reserved in the event of the grant of a patent, utility model or design. ( ISO 16016 )

Version Revision Sheet Page

1375324 02 A 01 1
of
1Document number

0.
05

A
B

C

0.
2

A
B

C

0.
2

A
B

C
0.

2
A

B
C

Axis weight 12 kg

2x UF
0.1

(interface)

2x Quick fitting
for tube ø6

Soft stop at the top
To reduce the stroke up to 10 mm with 

hexagon socket set screw M6x1

Hard stop at the bottom
Remove the protective cap to adjust with 

hexagon socket set screw M8x0.36

Soft stop at the bottom
Remove the protective cap to reduce the stroke up to 10 mm 

with hexagon socket set screw M6x1

D-D

Motor connector
Type : Lemo

Ref. : EGJ.2B.304

Brake connector
D-Sub 9p male

Screws : UNC 4-40

Encoder connector
D-Sub 15p HD female

Screws : UNC 4-40

A

B
C


	Feuille 1
	Vues
	new_view_1
	gauche_2
	gauche_3
	gauche_4
	new_view_5



